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10 FMP Unit 7 Skill 5: SOI\/mD Simultaneous Equations with Elimination

,,,,,, Example 1: Same coefficients, same sign Example 2: 5ame coefficients, different sign
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‘Problem. Soving

Choose two letters to represent the two unknowns in each problem. Set up two eguations about the two
unknowns using the information given and solve. Use any method to solve.

Two consecutive integers add up fo 37. What are they?
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The sum of two integers is 150. Their difference is 28. What are they?
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| There are 105 sheep (ewes) and lambs in a field. Every ewe has two lambs. How many ewes and how many
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The teacher goes to Red Barn to buy 30 bottled drinks, water and fruxtju:ce for the class as its very hot in the
classroom during the summer. The total cost is $44.10. The water costs $0.75 each; the juice is $1.95 each.
How many water and how many juice did they buy? ’
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A line has general equation y = mx + b.
A line goes through points (3, 8) and (10,43). This yle{ds the following two egquations:

8=3m+b Lot
43=10m+b e
Solve the equations to find the slope m and y intercept b, and therefore the equation of the line:
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A line goes through points (2,25} and (7,6Q). Use s»mu_itaneous equations to find the equation of the line.
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A parabola has general equationy = ax* -+ bx + c.

A parabola goes through points (3,7); (4, 16) and (5, 27)..,Set'us three equations, using the x and y coordinates
given. Figure out the values a, b and c using the process of elimination a few times over. Try out your solution

T on geogebra to see if your solution goes through the three points given. ‘
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